Checking MC vs Data

e Re-checked MC vs Data for:

- PIDSEL - only PID used for K selection
- ADCSEL - only TcutG (same as exp data) used

» Compatibility checked for

- WIDTH (exp vs MC)
- MEAN (exp vs MC)

Exp fits are done without limits from MC just to see trends
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Checking o & mean from MC: C(RPC) K*
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Checking K num from MC: C(RPC) K”
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Checking o from MC: C(TOF) K
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Checking MEAN from MC: C(TOF) K*
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Checking K num from MC: C(TOF) K*
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Checking 0 & mean from MC: W(RPC) K*
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Checking K num from MC: W(RPC) K*
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Checking MEAN from MC: W(TOF) K~

mass

mass

520

500

460

420

540

520

500

460

420

TOF MEAN for 15.0 < 6 < 27.5

200 300 400 500 600 700 800 900
p (MeV/ic)

TOF MEAN for 52.5 < 6 < 65.0

200 300 400 500 600 700 800 900
p (MeV/c)

mass

mass

520

500

480

460

440

420

540

520

500

480

460

440

420

TOF MEAN for 27.5 < 8 <40.0

200 300 400 500 600 700 800 900
p (MeV/c)
TOF MEAN for65.0 < 8 <77.5
200 300 400 500 600 700 800 900
p (MeVic)

mass

mass

520

500

480

460

440

420

540

520

500

480

460

440

420

TOF MEAN for 40.0 < 6 <52.5

200 300 400 500 600 700 800 900
p (MeVic)

TOF MEAN for77.5 < 6 < 90.0

+

e
+*—l——

EE———

+
—_— —+

—

200 300 400 500 600 700 800 900
p (MeVic)

10



Checking K num from MC: W(TOF) K*
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Checking g & mean from MC: C(RPC) K
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Checking K num from MC: C(RPC) K
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Checking o from MC: C(TOF) K-

TOF Widths for 15.0 < 8 < 27.5
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Checking MEAN from MC: C(TOF) K
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Checking K num from MC: C(TOF) K

TOF K numfor 15.0 < 8 < 27.5 TOF K num for 27.5 < 6 <40.0 TOF K num for 400 < 8 <525
2 2 r Sooo -
[77] 1 — [77] | [77] - e
s e M
‘! So000f- 000 |-
[ B [ L [ C — ———
3 08| 3 - —— 3 L —
[ 25000 |-
= PIDSEL B T :
06 [ 20000 |-
- M\ X 15000 |-
0.4 - — -
i 2000 N —
: X 10000 |-
0.2f- 1000 - C
- s — 5000 |- —
O-IIllllIIIIIIIIIIIIIIlIIIlIIIlIIIIlIII'IIIl O-II|IIIIIIIIIIIlIIIIIIIIIIIIIIIIlIIIIlIIIlI 0-=:|:illIIIIIIIlIIIIIIIIIIIIIII_rl_IJ...I_l_IIIIIII
200 300 400 500 600 7OO 800 900 200 300 400 500 600 7OO @800 900 200 300 400 500 600 7FOO @800 900
p (MeV/c) p (MeVic) p (MeVic)
TOF K num for 52.5 < 0 < 65.0 TOF K num for 65.0 < 8 <77.5 TOF K num for77.5 < 6 < 90.0
sl - 0 [ 0 L
a I —_ a f —— Bo00 - —+
Biooof S000f- E f
51000 |- 8000 s F
2 [ —= 2 F #0000
e - = o = o
000~ —_— FO0OpF T 31800 | 4
L&) : L&) o L&) -
L — 6000 1600 [
10000 C — o
[ 5000 r — 1400 |-
L — - E
8000 u —— 1200 |- —
i 4000 — 1000 '
6000 |~ : -
[ — 3000 800
- - - e
4000 —— C N 600 |~
- 2000 == -
: - . 400 ——
2000 — F :
. 1000 . 200 -
-i il i | | | I | | | . I | | | | I | | l | I | l | | Iﬂ I . | | | I l | | l :I 1 l Ll I Ll I L1 il I L1l I 1 |_|_|-|'I Ll I L1 I Ll O :
200 300 400 500 600 7FOO 800 900 200 300 400 500 600 7OO 8OO 900 200 300 400 500 600 7FOO 8O0 900
p (MeV/c) p (MeVic) p (MeV/c)

16



mass

Checking o & mean from MC:. W(RPC) K

RPC Widths for 15.0 < 6 < 27.5
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Checking o from MC: W(TOF) K
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Checking MEAN from MC: W(TOF) K
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Checking K num from MC: W(TOF) K
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Next steps

» Re-(again)-analysis of p6 & py bins with:

- Mean from MC - boundin2or3 g ?

- Width from MC - boundin2or3oc?

- Starting values from MC?
* Which are to be used for limits on exp data fit (red or green)?

o Check consistency in K+/K- W/C ratios between p0o & Py
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Checking MEAN from MC: C(RPC) K*

500

490

480

470

460

450

440

430

420

500

490

480

470

460

450

440

430

420

RPC MEAN for0.0< Y < 0.2

PIDSEL
ADCSEL

:

100 200 300 400 500 600
pt (MeV/c)
RPC MEAN for0.6 < Y < 0.8
é A
: |
= e
: —_—
:_ ¥__.__-_—|—_‘__._
:I l L1 i I i i i I Ll i I L i i I I ] l il
100 200 300 400 500 600
pt (MeV/c)

470

RPC MEAN for 0.2< Y < 0.4

: —
- .
:IIIIII|IIIIIIIIIIIIII'IIIIIII
100 200 300 400 500 600
pt (MeV/ic)
RPC MEAN for 0.8 < Y < 1.0
3 .
o _._—I-—
E —— T =*=
3 —— —+
é R
:IIIIII|IlIlIlIlIIIIII'IlIIIlI
100 200 300 400 500 600
pt (MeV/c)

470
460
450
440
430

420

@ 520
510
500
490
480
470
460
450
440
430

420

RPC MEAN for0.4< Y < 0.6

100 200 300 400 500 600
pt (MeV/c)
RPC MEAN for1.0< Y < 1.2
3 -+
3 4
= -+
3 ==
EIllllllllll'llllllllllIllllll
100 200 300 400 500 600
pt (MeV/c)

25



Checking K num from MC: C(RPC) K”
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Checking MEAN from MC: C(TOF) K*
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Checking K num from MC: C(TOF) K*
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Checking MEAN from MC: W(RPC) K*
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Checking K num from MC: W(RPC) K*
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Checking MEAN from MC: W(TOF) K*
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Checking o from MC: C(RPC) K
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Checking MEAN from MC: C(RPC) K
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Checking K num from MC: C(TOF) K
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Checking MEAN from MC: W(RPC) K-
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Checking MEAN from MC: W(TOF) K
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Checking MC vs Data

Differences in MEAN and WIDTH between different MC
selection for some bins (but mostly above 500 MeV/c)

Which are to be used for limits on exp data fit?

Big difference in K number reconstruction

Big influence on the efficiency correction — optimization Is
strongly needed
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